AR NEEEI S AR
M A ED S
2Rl ==8 JEMAH 2= (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
A NSIARR 20,687,301 15,254,106 5,433,1%
= 5,177,446
s 1,877,738
| 178,699
EN 35,000
& 13,418,418
AR NS =OHY 16,664, 104 11,343,538 5,320,566
= 5,107,756
s 1,877,738
| 178,699
E~ 35,000
& 9,464,911
SRY dGHAH 2= 6,640,637 7,012,388 A371,751
= 804,528
s 1,877,738
| 160, 149
E~ 35,000
& 3,763,222
dH=EE(=21) 131,950 162,99 A31,045
= 57,064
= 74,886
401 A& BIZ 20| 131,950 162,995 A31,045
= 57,064
== 74,886
01 Al&HI 121,454 150,505 A29,051
(OFEYS BN 121,454
= 52,525
& 68,929
02 Zelyl 8,99% 10,990 AN1,994
(OE=PN3s] 8,99%
= 3,890
& 5,106
03 Al 201 1,500 1,500 0
(OES=PN3es) 1,500
= 649
== 851
OIMIHX H2=2(=22) 21,978 22,000 A2
| 10,989
& 10,989
401 AIEHIL RCHY| 21,978 22,000 A2
| 10,989
< 10,989
01 Al&Hl 21,528 21,550 N2
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AR NEEEI S AR
M A ED S
2Rl ==8 JEMAH 2= (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OOINEHX M2ZE 21,528
| 10,764
& 10,764
03 Al CHYI 450 450 0
O A 450
| 225
= 225
e Este £4(=21) 222,935 227,904 A4,969
= 98,031
& 124,904
401 Al HIL SR CHY| 222,935 227,904 A4,969
= 98,031
& 124,904
01 Al&Hl 217,335 222,424 25,089
OXgEste =4 217,335
= 95,568
= 121,767
02 Zeldl 4,600 4,480 120
Ox=EHAA 4,600
= 2,023
& 2,577
03 Al =0HYI 1,000 1,000 0
(OES=PN3] 1,000
= 440
& 560
FMIIRI(=1) 1,007,670 680,598 327,072
= 503,835
o= 503,835
401 AlEHIZ 20| 1,007,670 680,598 327,072
= 503,835
& 503,835
01 AlEHI 928,850 625,408 303,442
ORI 216,060
= 108,030
& 108,030
O EILIRItRI| 61,840
= 30,920
= 30,920
(OES=DN\PI=*P}! 299,250
= 149,625
& 149,625
O4t20e =I130| 351,700
= 175,850
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AR NEEEI S AR
M A ED S
2Rl ==8 JEMAH 2= (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS i fimE==t
= 175,850
02 Zeldl 70,820 48,190 22,630
O2ULSItRD| 10,720
= 5,360
& 5,360
O EILIRItRI| 5,600
= 2,800
= 2,800
OZXE X3 28,500
= 14,250
== 14,250
O&t20Y =I1320| 26,000
= 13,000
& 13,000
03 AIE =20l 8,000 7,000 1,000
O=ItRIIAS 8,000
= 4,000
< 4,000
OIMZX M2 & SL=tR01(=21) 298,320 433,920 135,600
| 149,160
& 149,160
401 AIEBIZ 20| 298,320 433,920 A135,600
| 149,160
= 149,160
01 Al&Hl 279,270 407,840 A128,570
O3 ItRI| 279,270
| 139,635
= 139,635
02 Zeldl 17,050 22,080 A5,030
O34 ItRD| 17,050
| 8,525
== 8,525
03 A& S 0HHI 2,000 4,000 A2,000
O3 IR 2,000
| 1,000
= 1,000
SSAEIMO(=21) 243,992 241,795 2,197
= 123,121
< 120,871
101 el24t| 211,605 200,352 11,253
= 106,778
== 104,827
M IRNZ2Z2NSES 211,605 200,352 11,253
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i
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i
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i
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3,129

3,071
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2,523
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N2,114

1,625

A1,600

s[EL
il &k o8
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788,202
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610,058
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1,053

3,260
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Ofl &8

2,682,468

14
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1
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CRA - EB . (B - i HIm =2
301 LetEN= 350 350
14 JIEI2 A2 350 350
OZRE AEAY &1 350
405 RHeHESHI 3,000 3,000
01 A =EZFH=HI 3,000 3,000
O&=Rg 22| &yl ¢ 3,000
MEFE 2. 2l 9,968 130,79% A35,827
101 2124b| 47,568 46,819 749
M I12HH22sSEs 47,568 46,819 749
o&elel 24 47,568
201 B2 3| 27,000 28,476 A1,476
01 At 22|l 17,000 18,476 A1,476
OZellid 29 & ZAtHI 17,000
02 3324l 10,000 10,000 0
02322 ¥ A28 + 10,000
202 o4b| 3,000 4,000 A1,000
01 =LH4b] 3,000 4,000 A1,000
Oos&AHLY Kbl 3,000
401 Al HIL SR CHY| 15,000 50,000 A35,000
01 AlEHI 15,000 50,000 35,000
OsAANE &X £ Ed 15,000
405 KHAHESHI 2,400 2,400
01 AL EEF=HI 2,400 2,400
ON4&EY 2,400
otd ZE0E =2 Z-AE 175,000 175,000
401 AIEBIZ 20| 175,000 175,000
01 Al&Hl 173,800 173,800
Ostd ZE0tg =2 24 ((d& 173,800
03 Al 0HYI 1,200 0 1,200
Ostd 240t =2 24((de 1,200
M= 2ga2 55,309 55,309
101 124 H| 45,309 45,309
M IIRINZ2EXNSES 45,309 45,309
OME= 2el& 45,309
201 B2 AY| 10,000 10,000
01 A=R2teld| 10,000 10,000
ONH= 29 25 +2 10,000
AEALY JIBH0HE SHEMAH(E 630,000 0 630,000
401 A& HIL S 0HY| 630,000 630,000
01 AlEHI 630,000 630,000
SHMAE EX O] 630,000
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AR NEEEI S AR
HE: NYDEISHL
Eel: ANE - 78S (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OYXXE 7=Hl, AIERXEl S 4,000
= 2,000
& 2,000
202 04| 4,000 5,200 21,200
= 2,000
== 2,000
01 =WHO4HI 4,000 5,200 A1,200
OZELIRYEA 2% & SLois ZA 4,000
= 2,000
& 2,000
207 AR 22,000 13,000 9,000
= 11,000
= 11,000
03 Al& 2| 22,000 13,000 9,000
O=AXAAY &L SLHE ZAE AIEM
=S 22,000
= 11,000
== 11,000
MEXAS B SA 2 0|8 A7 117,812 143,400 A25,588
101 @I244| 90,312 88,980 1,332
M IRIMNZ2ENSES 90,312 88,980 1,332
OAIEEXR L ANEEXR 2AHHl S 90,312
201 Ler23AH| 20,500 17,500 3,000
01 AtR2eltl 18,000 15,000 3,000
OHZYaH HARA OHMFZ, X AR S 18,000
02 3324l 2,500 2,500 0
03323 (He S) & *FHl S 2,500
202 odb| 3,000 3,000
01 =LH4b 3,000 3,000
O XNZAt € [t=2E S 3,000
207 AR 4,000 3,920 80
03 AlE 2| 4,000 3,920 80
OAIEHT Mg Y S 4,000
ANEY 2el2Z 109,519 80,602 28,917
101 eI244| 59,019 52,152 6,867
M IRINZ2ENSES 59,019 52,152 6,867
OQJIZHH & SHAIIZ2Z2X} 21HH] S 59,019
201 LEr2AH| 48,000 26,000 22,000
01 AtR2elt| 27,000 7,000 20,000
OARES 7, ZHIYX, felFHl s 27,000
02 2329l 21,000 19,000 2,000
ONI|, S HZ23Hd M8 22 S 21,000
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= CEEE= Stoi13
M ARSI =Y
Chel: AIE - oiRESE
4224 - B - 29(EH) - MSA of v i
207 AR 2,500 2,450
03 Alg &3t 2,500 2,450
O%= 2| Y ZAQ 2,500
NHF L 221(=1) 225,123 219,429
= 148,000
[ 77,123
101 el24H] 35,290 34,120
= 24,703
= 10,587
W4 JIZtNZ2Z2XNSES 36,290 34,120
ZXIE 35,290
= 24,703
= 10,587
201 B2 137,533 132,829
= 9,287
= 41,246
01 At2tcltl 137,533 132,829
OuEE SN Ud 137,533
= 96,287
& 41,246
202 04l 1,300 1,480
= 910
= 390
01 SLHALI 1,300 1,480
OSXHHZE & MF 2 1,300
= 910
S 390
207 AR E 3,000 3,000
= 2,100
= 900
03 AIE 2| 3,000 3,000
OLEEAN MFH & S 3,000
= 2,100
= 900
401 AIEHIZL RO 48,000 48,000
= 24,000
S 24,000
01 Al&H] 48,000 48,000
OMEE =2tZHe A 48,000
= 24,000
& 24,000
SE UEANE 018 & s H37 37,238 36,442




AR NEEEI S AR
M MEUEDIsHE
Eel: AIE - ARES (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
101 el 25,938 24,542 1,39%
M IRINZZ2SE 25,938 24,542 1,3%
OAEHAREXR 2128 S 25,938
201 LBt2E | 1,500 2,100 2600
01 At2tcltl 1,500 2,100 2600
OMRES 7Y, FHIRSLAH S =2 1,500
202 04| 1,700 1,700
01 2L b 1,700 1,700
OoOSEtEd 8M 2 =8 S 1,700
207 A1IHE 8,100 8,100
03 A& &2t 8,100 8,100
OFE= dS ML L =0 Y S 8,100
SE44H L THHHAIE (= 1) 10,000 10,600 2600
= 7,000
& 3,000
202 O 1,000 1,600 2600
= 700
S 300
01 =LA LI 1,000 1,600 A600
OMAMIZH 22 & XA S 1,000
= 700
= 300
207 S| 9,000 9,000 0
= 6,300
= 2,700
03 Alg &2t 9,000 9,000 0
OdE & ULIEZe], Kl s # 9,000
= 6,300
& 2,700
AN STHNE 232l 246,000 96,563 149,437
101 12| 97,000 50,863 46,137
04 JIZtNZ2Z2XNSE 97,000 50,863 46,137
OJIZEHZ22 Xt 212Hl & 97,000
201 Zet2a| 29,000 29,000
01 At 2t2lbl 9,000 9,000
OSzHZHE 28 MRES, ISR S 9,000
2 &=l 20,000 20,000 0
03322 & AMEEHl RAHl S 20,000
202 04| 2,000 2,000
01 =LHAbI 2,000 2,000
ORLIHE & XXM S 2,000
207 AIHE 18,000 14,700 3,300
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AR NEEEI S AR
M MEUEDIsHE
HR: A" - HFES (91 =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
03 A& 22| 18,000 14,700 3,300
OHAMHHE &=, HIX & Al 7 S 18,000
401 A2 HIYL S OHH| 100,000 100,000
01 Al&H] 100,000 100,000
O LA THHH otRA S5 100,000
2T HME LT (0I0|AJAQIZ) LY AXITHEY AIE 46,344 45,801 543
101 el21H] 39,344 37,401 1,943
04 JIZtNZ22 NS 2 39,344 37,401 1,943
OHAIZE AIZETERE 2IAHl S 39,344
201 2= 3,200 3,200
01 At22teH] 3,200 3,200
oAcIEE 7Y & JHAX S 3,200
202 O 1,000 1,200 A200
01 =LA LI 1,000 1,200 A200
OB XZAL € Ntesd S 1,000
207 A1 E 2,800 4,000 A1,200
03 A& 32| 2,800 4,000 1,200
OZT ANEMHIE Mg 2 S 2,800
AOE MBI SAMEENE =4(21) 6,000,000 0 6,000,000
= 3,900,000
S 2,100,000
401 Al HIYL SO 6,000,000 0 6,000,000
= 3,900,000
= 2,100,000
01 Al&H] 5,993,000 0 5,993,000
OADIE &HEHIOIR SHAdENE =4 5,993,000
= 3,895,450
= 2,097,550
03 Al THYI 7,000 0 7,000
OALIE &HEHI0I2 HAMEEHE Xd 7,000
= 4,550
= 2,450
A OrM 22| 14,300 0 14,300
201 get2a| 4,000 4,000
01 AtR2t2lbl 4,000 4,000
odgetdAH, WSH|, 222AAE S 4,000
202 O 300 300
01 =LHAbI 300 300
Ot S Wx, HIIH S 300
206 = Hl 3,000 3,000
01 =4 3,000 3,000
O4Ed ANES S 3,000

-781-




A= pyEya SN MRS
M MEUEDIsHE
€l AE - HRESE (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
405 AHaHE SH] 7,000 7,000
01 AL ESF =4I 7,000 7,000
oags g2t 20 S 7Y 7,000
MEHMES SM(BIEH &#5) 60,390 60,390
405 KHaHE =4I 60,390 60,390
01 MMM ESFSHI 60,390 60,390
ORdAE « RTPRR 39,600
OaH=0IB 20,790
=38 Ng8ss g7 14,800 14,800
101 el 10,000 10,000
M IRNZZ2NHSE S 10,000 10,000
OJIZHNl & SAIZZ2ZX 12l S 10,000
201 B2 600 600
01 AtR2telt] 600 600
OMNEEE 72 S 600
202 O 200 200
01 =LA LI 200 200
O== MZ ZAL 22 0l S 200
207 AR 4,000 4,000
03 A& 32| 4,000 4,000
o ARE 7Y S 4,000
SMEXNSE S01ZHR MHE St ASTHE JI=HE 68,000 68,000
101 el24d] 16,000 16,000
U IIHZZ2NSES 16,000 16,000
OJIZHMl & SAIZE 22X 21A4Hl S 16,000
201 &Er2E | 4,000 4,000
01 AtR2teld] 4,000 4,000
OMNRES, ZHIEX S 4,000
202 04l 3,000 3,000
01 LI 3,000 3,000
OB XIZAL 2E0Hl S 3,000
207 S| 15,000 15,000
03 Alg &2t 15,000 15,000
od1E M=s 7Y S 15,000
401 A2 HIX SOHH 30,000 30,000
01 Al2H] 30,000 30,000
OSt™HEA 4X| S 30,000
2 HEL2 ASHE HH0I2 f g+ 62,720 62,720
101 el 39,720 39,720
M IRNZ2Z2NHSE S 39,720 39,720
OJIZHHl & SAIIZZ2 X 21AHl S 39,720
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a3 presA SH MR DR
M ARSI =Y
ool AR - IS CERE)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
201 2= 8,000 8,000
01 AtR2tcIH] 8,000 8,000
OMF2Y=E, dHl 8Xtlg & 8,000
207 AIHE 15,000 15,000
03 Alg 32| 15,000 15,000
od1E Mz 7 S 15,000
ZAEHI0IL S8 HE i 2l 28 7,500 7,500
201 egr=2E | 7,500 7,500
01 AtR2teld| 7,500 7,500
o= U228 & 7,500
22 THiAIE &X1(21) 150,000 0 150,000
= 45,000
S 105,000
401 AlEHIYL 204 150,000 0 150,000
= 45,000
= 105,000
01 Al&H] 149,500 0 149,500
OZE MuiAlE &X 149,500
= 44,850
& 104,650
03 A2 =2CHHI 500 0 500
OZ2& MHHAIE &X 500
= 150
= 350
AN RS EHL2Ed AXI(21) 51,050 0 51,050
Il 18,550
& 32,500
401 AlZHIZ 201 51,050 0 51,050
Il 18,550
& 32,500
01 Al2H] 44,450 0 44,450
Otz €& &4l €X 44,450
Il 16,200
= 28,250
02 Zcld 6,600 0 6,600
OHZZ &d £H| &l 6,600
Il 2,350
LS 4,250
AL 382 381,506 452,560 AT1,054
BA2E 381,506 452,560 AT1,004
101 el21H] 25,870 25,127 743
M4 JIZtNZ2Z2XNSES 25,870 25,127 743
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A= MEEER A AEDSIHAR A
M WHSAAH| (AR DB T)
chol: olzi2 i ECRE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OJEg 16,800
i B 40,0003 x15H 12 7,200
-2 2AIE 20,0003 x8H 128 1,920
o PAE 20,0002 11+ 123 2,640
-S4 60,0003 x7H+ 128 5,040
(OFS =) M= 21,000
2040 & 100,000 x 114+ 128 13,200
-15~20& 0] et 80,0003 x 1« 12& 960
-10~15=0| Bt 60,0003 x2H+ 128 1,440
-5~10 0] 2+ 50,000 x*9H =123 5,400
OFZFIPHZ 3,240
-25E0| & 30,0003 x8G«12& 2,880
-20~25= 0| Bt 10,0003 *3H + 12& 360
OEE=CET RS
4,067,2002 4 1%+3H 123 6,004
OS=X22+2(SX)
40,0003 «2Y 123 960
OExgR=Y 19,680
=324 5,520
530(4& 30,000 x 19« 123 360
6~7= 30,0003 x9Y 122 3,240
8=20laot 20,0002 ~8H« 123 1,920
J=324+90ra 3,600
- JISE/IIAL 30,0003 x6H * 122 2,160
- &FA DAL 20,0003 *5F 123 1,200
2H86~72 10,0003 x2H + 123 240
P Rag 80,00024+112+ 122 10,560
OAZtel2R4Y
12,4463 *25A| 2H28H « 12& 104,547
Oxgae=g 90,375 *3H+34 9,219
(OFSPLI=Ea1.]] 140,0002 33+ 122 55,440
OYE St 959,062,291 *1/12+120% 95,907
O I 24|
1,267,260,0002 *1/12%86%+1/30% 12 36,329
02 JIEtE 2= 632,450 626,033 6,417
OFANLBSH 632,450
OJl=s 421,772
=0 3,195,236 11H*12& 421,772
O&u3 35,148
-2 421,771,152&31/12 35,148
ONE=g 10,320
i BN 40,0002 +8H 128 3,840
-2AIE 20,0003 x8H 123 1,920
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AR pRIEER SA L ARIDEeI R
M WHSAAH| (AR DB T)
chel: ol 2g| CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
X T XHA 20,0003 x5H =123 1,200
-SMXHA 60,0003 *3G 128 2,160
o PE 100,0002 x1H*12& 1,200
OFZFHIHtzg 9,720
203014 100,000 3 12& 3,600
-154E~20= 0| et 80,000 x3H 123 2,880
-10~15= 0] et 60,0003 x2G 122 1,440
-5~10= 0] 2+ 50,0003 3G« 12& 1,800
O&EIZFOPHE 360
-20~25E 0] Bt 10,0002 x3H * 12& 360
OS+X2L4+H(S)
40,0002 x4G« 128 1,920
OS4geay 3,720
DlsdEsg(82aY
20,0003 *11Ex12& 2,640
AT = N =
30,0003 3G« 122 1,080
OAlZtRI 2 S 2g
9,90 *25A| 2Ex 1B+ 123 32,974
GENEC PN 80, 32021824 <26 16,707
OFHZ Al 140,000 11 %122 18,480
OGE St 421,771,152 %1/12+120% 42,178
OaItE 4|
421,771, 1523 x1/12%86%+1/30% 122 12,091
O&ZEXH| 155,000 x 11+ 128 20,460
Otelat sl 50,0003+ 11+ 12& 6,600
204 MR AY| 71,580 64,140 7,440
02 g ExH| 71,580 64,140 7,440
oY= 46.680
042 400, 00021 %12+ 128 4,800
Ob= 250,000& x 1+ 12& 3,000
O6= 175,0002 x4 H 123 8,400
ora 165,000& 6 H x 122 11,880
0892 155,000& x10H + 12& 18,600
op1 24,900
oA 250,000& x2Hx12& 6,000
OHAFAL 175,0002x9H x 12& 18,900
322 olAHl XA 1,073,937 1,044,300 29,637
101 @I244| 966,745 92,523 24,222
03 SR (RIHL)2Z2XE S 966,745 A2, 523 24,222
Ot A 77,095
OJl2= 2,364,870 x2H 128 56,757
OFS It = 56,756,830 *1/12 4,730
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A= pysA= SN MRS
M WHSAAH| (AR DB T)
chel: ol 2g| CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
Od&E=g 720
-BH < Xt 40,0002 x1~123 480
~ROIE 20,0002 %1%+ 122 240
Ozt 2R4g
12,9533 * 150%+2E *2A| 2+ 123 933
ORI EINLY
104,9513x2&~ 124 2,519
Og &=l 56,756,830 *1/12%120% 5,676
OZaAll 140,000& 2~ 123 3,360
OulEH| 100,000 x2& x 122 2,400
OMNZaRE & dHAURA 889,650
OJlZs 2,311,463 «22H 128 610,224
Ood2=¢ 610,223,590& *1/12 50,852
OJE=d 9,840
-UH =Xt 40,0002« 13+ 122 6,240
-F LS 20,0003 +7& 122 1,680
XM AHA 20,0002 x6&« 123 1,200
—= M At 60,0008 x1&8 123 720
OAlZeI2R4+E
13,003+150%+22& #2A| 2H« 12 10,299
OgxtRsRId
104,032 x22ZH * 122 27,465
Oxd=22+8 165,458 x 142262 56,587
OgZ =l 610,223,592 *1/12+120% 61,023
Oa4 140,000 x22 = 122 36,960
OuEH| 100,000& x22H  12& 26,400
M HA=2FE=SS 107,192 101,777 5,415
04 SRH(RIAHA)2 2N 2EEHRRES S 107,192 23,309 83,883
OSRA(RINHA) 22NEEESRES S 107,192
S3ADRD| I2iH] X (=1) 38,780 38,041 739
= 12,690
= 26,090
101 eI 34,951 34,332 619
= 12,690
= 22,261
03 SRE(RINHA) 222 34,951 34,332 619
OB 4R 34,951
o=z 26,008
= 12,690
& 13,408
od2=+¢ 2,175
OAlRAZ 25 443
OgxRsRIId 1,180
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od
3
oF
uJ

R0 =
&0 B0 80
) OF OH
70 &0 @r
<%0 o)

W & o
A RO )

HwE

120
2,979
1,970
1,970

2,3%

426
6,324

1,161

914

914

247
3,199

1,370

1,146

s[EL
il &k o8

3,709
850
78,482
70,832
70,832

7,650
1,752

39,260

35,431

35,431

3,829
877

38,041

34,332

34,332

Ofl &8

2,175
1,680
1,200
3,829
3,829

3,829
80,878
34,500
46,378
72,802
34,500
38,302
72,802
72,802
34,500

38,302

8,076
8,076
8,076
40,421

i

12,000
28,421

36,345

H

i

12,000
24,345
36,345

36,345

H

i

12,000
24,345

H

4,076
4,076
4,076
39,411

i

10,500
28,911

H

35,478

i

10,500
24,978
35,478
35,478
26,462

H

10,500

r

R

- SR1(3) - HIRAHY

- Hu
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[l
3
OF
uJ

R0 =
&0 B0 80
) OF OH
70 &0 @r
<) %0 o)

W & o
A RO )

-

HwE

224
3,083
1,200
1,200
1,200
3,105

117,014
105,328
105,328

11,686
11,686
12,876
13,356
10,213
10,213

2,223
2,223

920

200

720

dHEC
Ol &42H

3,709
850
42,246
38,217
38,217
4,029
924

156,182

61,662
29,612
27,312

2,300

8,550
8,550

16,300
3,300
2,920

10,080

Ofl &8

H

15,962
2,205
576
1,150
2,205
1,680
1,200
3,933
3,933

3,933
39,417
39,417
39,417

4,029

4,029

4,029

117,014
105,328
105,328
105,328

11,686
11,686
11,686
169,058
75,018
39,825
37,525
37,525

2,300
2,300
10,773
10,773
10,773
17,220
3,300
3,300
3,120
3,120
10,800

R

- SR1(3) - HIRAHY

29438

A
=

JH

10k
R
g0

101 @124

Kl

7R

ok

101 el

=2

R0
il

30
0B
X

jilg

80
0H
oJ
oll

01 AtR2teld]

30
0B
[0
M0

30
0B
X

01 =LHOLI

202 04l

=LHOHI

30
0B

Ik

A

KJ
KF
ok
oD

3,300,000&
40,0002 »78H

4
K-
ok
31
80
0H

I+
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od
3
oF
uJ

-

HwE

N480
N480
A480

s[EL
il &k o8

7,200

7,200

94,520
9,520

94,520

Ofl &8

4,800
6,000
7,200
7,200
4,800
2,400
94,040
94,040
94,040

93,540

500

R

- SR1(3) - HIRAHY

29438

A
=

400,000& * 1 A+ 123

500,000 *1JH 2+ 128

R0
10

oF

Rr

.

oF

80
0H

2

80
0H
J
oll

01 AtR:2teld]

0o
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AR NPEER SN MBS S2XR
M AEED s e (SS)
&t ERE ZIMA 2= (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
AENEARR SEXE 5,137,979 5,077,786 60,193
= 383,508
s 814,632
| 174,437
= 3,765,402
ARIIIED | WY (SH) 4,273,861 4,156,647 117,214
= 383,508
s 814,632
| 174,437
= 2,901,284
SRE dGHAH 2= 2,681,305 1,615,126 1,066,179
= 357,721
ay 814,632
| 174,437
= 1,334,515
ZHE X4(=21) 101,500 0 101,500
= 43,895
o= 57,605
401 AIEBIZ 20| 101,500 0 101,500
= 43,8%
& 57,605
01 AlEHI 92,600 0 92,600
OZHME =% 92,600
= 40,046
& 52,554
02 Zeldl 8,000 0 8,000
O3ME =8 8,000
= 3,460
= 4,540
03 A& S CHHI 900 0 900
OZNg X8 900
= 389
& 511
OIMIHX M2Z2(=1) 131,914 132,000 A8
| 65,957
= 65,957
401 AIEBIZ20HYI 131,914 132,000 AB6
| 65,957
= 65,957
01 Al&H| 128,914 128,700 214
OO0IMSX HZ=& 128,914
| 64,457
& 64,457
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AR NPEER SN MBS S2XR
S AMEWED|E HEH(SH)
ol TRl AAHH 7= (ol &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
02 Zeldl 3,000 2,400 600
OOINEHX M2ZE 3,000
| 1,500
& 1,500
MO R(=1) 214,793 161,106 53,687
= 107,397
= 107,3%
401 AIEBIZL 2018 214,793 161,106 53,687
= 107,397
& 107,3%
01 AlEHI 198,793 151,246 47,547
O2ULSItRD| 31,714
= 15,857
= 15,857
(OES=DN\PI="P)! 98,141
= 49,071
= 49,070
OLrE 0=t 68,938
= 34,469
& 34,469
02 Zeldl 16,000 8,700 7,300
ORI 3,000
= 1,500
< 1,500
OZEXIJt3I| 6,000
= 3,000
== 3,000
OArE0IZ=I10| 7,000
= 3,500
= 3,500
SSAEIRI(=21) 283,510 282,548 962
= 143,455
< 140,055
101 el24t| 262,806 261,898 908
= 131,403
== 131,403
M IRNZ2ENSES 262,806 261,898 908
O34t 10| 262,806
= 131,403
< 131,403
201 B2 3| 20,704 20,650 54
= 12,052
= 8,652
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AR NPEER SN MBS S2XR
M AEED s e (SS)
=2l ==8 JEAHAH 2= (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AtR2eltl 12,100 12,050 50
o25+4 8,700
= 4,350
& 4,350
oun=s=&t| 3,400
= 3,400
02 S32294| 8,604 8,600 4
ORFHl ¥ ZbIsA2e 8,604
= 4,302
== 4,302
OIMIEXIMZ & SA=IRI(=1) 216,960 108,480 108,480
| 108,480
& 108,480
401 AlEHIZ 20| 216,960 108,480 108,480
| 108,480
& 108,480
01 Al&Hl 205,960 104,000 101,960
O3U=0tRD| 205,960
| 102,980
< 102,980
02 Zeldl 10,000 3,700 6,300
O3A=0t10| 10,000
| 5,000
& 5,000
03 AIE S0l 1,000 780 220
O3U=0tRD| 1,000
J| 500
= 500
ATAIE (=) 1,163,760 447,102 716,658
s 814,632
< 349,128
401 A& BIZL 0| 1,163,760 447,102 716,658
s 814,632
< 349,128
01 Al&H| 1,140,260 437,402 702,858
2HEUE 657,117
s 459,982
< 197,135
OMtEdsY e 483,143
s 338,200
< 144,943
02 Zeldl 23,500 9,700 13,800
OFIzaR=c 13,500
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od
3
oF
uJ

-

HwE

N9,972

756
756

A10,728

9,589

AT1,139

1,600

1,600

1,600

43,000

8,000

s[EL
il &k o8

250,231

18,226
18,226

232,005

227,035

4,970

11,109

9,509

3,509

6,000

1,600

1,600

51,000

Ofl &8

9,450
4,050
10,000

7,000
3,000

240,259

]3]

H

14

H

18,982
18,982
18,982
221,217
217,446
194,946

22,500

3,831
3,831
12,709
5,084
7,625
9,509

i

H

3,804
5,705
3,509
3,509

i

H

1,404
2,105
6,000
6,000
2,400
3,600
3,200

i

i

1,280
1,920

3,200

3,200

i

H

1,280
1,920
8,000
3,200
4,800
8,000
3,200

4,800

mr

H

i

H

i

H

R

- SR1(3) - HIRAHY

29438
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uJ
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